
Synchronous message passing pc2.2-17

T1 = (S1, Act1,→1, . . .)T1 = (S1, Act1,→1, . . .)T1 = (S1, Act1,→1, . . .), T2 = (S2, Act2,→2, . . .)T2 = (S2, Act2,→2, . . .)T2 = (S2, Act2,→2, . . .) TS

Syn ⊆ Act1 ∩ Act2Syn ⊆ Act1 ∩ Act2Syn ⊆ Act1 ∩ Act2 set of synchronization actions

composite transition system:

T1 ‖Syn T2T1 ‖Syn T2T1 ‖Syn T2 = (S1×S2, Act1 ∪ Act2,→, . . . )= (S1×S2, Act1 ∪ Act2,→, . . . )= (S1×S2, Act1 ∪ Act2,→, . . . )

interleaving for all actions α ∈ Act i \ Synα ∈ Act i \ Synα ∈ Act i \ Syn:
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handshaking (rendezvous) for all α ∈ Synα ∈ Synα ∈ Syn:
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